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[EE N3. N4]
KETI00m2HY [IFFAHY] wEITI00M2LY [IEHEFHY] &EITI0M2HY [EHAHY]
ASRRYIBR T 154.6m [1.8+2.3+2.3=6. 4m] x 100m2/4. 14m2 ASEREIBT T 154.6m [1.8+2.3+2.3=6. 4m] x 100m2/4. 14m2 ASRREIBR T 111.1m  [2.3+2.3=4.6m] x 100m2/4. 14m2]
ASHRFEFET  100m2 [1.8mx 2. 3m=4. 14m2] ASKREEFET  100m2 [1.8mx 2. 3m=4. 14m2] ASHRFERET  100m2 [1.8mx 2. 3Im=4. 14m2]
FIEEIE 100m2 [1.8mx 2. 3m=4. 14m2] TERE 100m2  [1.8mx 2. 3m=4. 14m2] TR 100m2 [1.8mx2.3m=4.14m2]
=BT 100m2  [1.8mx 2. 3m=4. 14m2] =ET 100m2  [1.8mx 2. 3m=4. 14m2] =BT 100m2  [1.8mx 2. 3m=4. 14m2]
[EE N5]
zEITIOMHY [1&HMHY]
S 6 HE
ASEREIBR T 154.6m [1.8+2.3+2.3=6. 4m] x 100m2/4. 14m2 THR6-3 A Rk TKH T 3B @ A5 18 10 8 324
ASHRBE R T (t= 5cm) 58m2 [1.2mx 2. 0m=2. 40m2] /4. 14m2 x 100m2 (EZM. M. B2aME) IF
ASKREEFE T (t=10cm) 42m2 [4.14—2.40=1.74m2]1/4. 14m2 x 100m2 HEAER EEFER
AEEEE  100m2  [1.8mx 2. 3m=4. 14m2] YV res A =t o= .
=BT (EE) 100m2 [1.8mx2. 3m=4. 14m2] X ASHREUVELHOEMHR. NEEFHK, BEHFEEDEEYV LTS
REL 100m2  [1.8mx 2. 3m=4. 14m2] ® R
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